Freedom Flooring and Refinishing

Lic#C-11259

1419 Carlos Ave

Clearwater, FL 33755

+1 7274747730

freedomfloors573@gmail.com

ADDRESS

Todd Guarino

341 Bay St Palm Harbor FI

Estimate



RECOMMENDED

2527	01/10/2024
ESTIMATE #	DATE

ACTIVITY	QTY	RATE	AMOUNT
Repair Repair up to 10 Planks of 3.25x3/4 old Florida Heart Pine	10	55.QQ	550.00
Sand and Finish Sand 1420 sq ft of Heart Pine and Finish natural with 3 coats of Bona Traffic Water Based Urethane	1,420	5.00	7,100.00
Supply and Install Supply and Install new Quarter Round	375	3.50	1,312.50
Thank you for your business.	TOTAL		\$8,962.50

Accepted By Accepted Date



Quote #2

STAIN COLOR SELECTED:	
CUSTOMER APPROVAL:	

8635 W. Hillsborough Avenue, #161 Tampa, FL 33615 (813) 260-0203

WORK ORDER CONTRACT

CUST	OMER'S NAME	DATE	72 · 700 700 11	
Tod	ld Guarino - (Ozona Village Hall)	1/3/2	2024	
ADDR		PAYI	MENT TERMS:	
CITY	ZIP TELEPHONE m Harbor 34683 (727) 251-9333		of Total is due before	
EMAII	: ADDRESS thytodd@gmail.com	work begins; 50% is d before the final finish is applied.		
	THE FOLLOWING WORK IS TO BE COMPLETED TO THE PRICES AND CONDITIONS STATED BELOW:		FEE	
1.	Remove and re-install existing quarter round		800.00	
			0.00	
2.	Remove and replace 8 boards @ \$130.00 per boards	ard	1,040.00	
			0.00	
3.	Full sand and refinishing of Antique Heart Pine		7,000.00	
	hardwood flooring in Natural including one (1) coa	at	0.00	
	of an oil-modified polyurethane floor finish and		0.00	
	two (2) coats of a commercial component water-b	ased	0.00	
	floor finish in satin sheen		0.00	
	(approx 1,400 s.f.)		0.00	
	USE OF BONA Dust System		25 0.00	
			0.00	
			\$9,090.000	
			0.00	
	7001		0.00	
			0.00	
			0.00	
		was to	0.00	

Frontier Hardwood Flooring, Inc.
1807 Main Street
Dunedin, FL 34698 US
+1 7277243862
one@frontierhardwoodflooring.com
www.frontierhardwoodflooring.com



Quote #3

Estimate

ADDRESS

Accepted By

OVIS 341 Bay st Palm Harbor, FL 34683 OVIS # 251-9333 ESTIMATE # 7098 DATE 01/12/2024

ACTIVITY	GIY	Dy TE.	ARYCH MIT
Repairs Repair up to 8 heart pine boards	1	700.00	700.00
Additional Add sister joist for repair	1	100.00	100.00
Sand and Finish Sand and finish 1400 sq ft of heart pine flooring. Seal with ClassicSeal and finish with 2 coats of Satin Traffic HD finish.	1	7,800.00	7,800.00
Quarter Round Supply and install new primed white quarter round. 200 ft	1	800.00	800.00
Optional: Apply a 4th coat, Satin Traffic finish. ADD \$1600			
Float Prep is an Additional Charge if not indicated on the Using a credit card for Payment will be subject to a 3% proposition of 50% will be collect for materials and a 25% the final payment of 25% upon completion of the project Customer Signature and Date:	processing fee.	TOTAL	\$9,400.00
Rep Signature and Date:			

Accepted Date

AWESOME HARDWOOD LLC

PO Box 3232

Spring Hill, FL 34611

(813) 503 7044

awesomehardwood@yahoo.com www.awesomehardwood.com

Quote #3



Estimate

ADDRESS Todd

SHIP TO Todd

341 Bay Street, Palm Harbor Fl

ESTIMATE#

DATE

17-01-2023-130

01/05/2024

ACTIVITY	QTY	RATE	AMOUNT
Hardwood repair Repair several cracked and damaged boards due to bug damage. material & labor.	1	1,250.00	1,250.00
Sand & finish hardwood sand and finish solid pine flooring	1,395	6.00	8,370.00
Thank you for your business.	UBTOTAL		9,620.00
T	ΑX		0.00
Te	OTAL		\$9,620.00

Accepted By

Accepted Date

Quote #4



Seer Flooring Inc 277 Mae Court Palm Harbor, FL 34683 US (727) 389-8897 sean@seerfloor.com http://www.seerfloor.com

ADDRESS
Todd Gaurino
Ozona Village Hall
341 Bay St
Palm Harbor, Fl 34683

Estimate 1636

DATE 01/09/2024

EXPIRATION DATE 01/30/2024

PROJECT
Ozona Village Hall

DATE	ACTIVITY	DESCRIPTION	OTY	RATE	AMOUNT
	Labor	Repair & replace damaged area of pine hardwood by interior wall.	1	850.00	850.00
	Labor	Sand, Stain & Refinish existing pine floor in facility (Three coats of finish to be applied)	1,395	4.75	6,626.25
	Labor	Remove existing & install new quarter round at baseboard over newly refinished flooring.	366	1.85	677.10
	Quarter Round	White Primed.	368	0.88	323.84
	Hardwood	Reclaimed Antique Heart Pine (Circa 1918)	1	485.00	485.00
	Polyurethane	Bona Hi Traffic commercial grade, non yellowing.	12	158.38	1,900.56
		As discussed, additional subfloor & framing repair may be necessary in area of damaged hardwood at additional cost.		\$	10,862.
		We follow all dust prevention protocols however, some dust clean up will be necessary.			
		New quarter round will require caulk & paint.			
		Furniture moving to be responsibility of customer.			

50% Deposit required upon acceptance. 50% upon satisfactory completion of job.

Thank you for your business.